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Is it not so, that if he was not »°v2, he can be 2

OVERVIEW

X70M 27 cites a RN*92 in an attempt to prove that one may be 7%nna nawa 2. The
Xn>12 states that according to 1"2 we allow him to be ¥1a for four nights until
w"¥n.2 X701 21 assumed that the X172 means that if he was not °¥2 until w"¥mn,
he may be 9°¥3, including that he may be %°v2 (for the first time) even naw %°%. Our
MooIn explains why X701 27 assumed that when the &n»172 states that we allow him
four nights, it means even if he was not »°v2a.
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Since for what reason does the Xn>92 mention ‘until N2 SN’ -
- DN PUNT 2) YY N NAYA PP SNNT JPWINYNRY NNNT INY IN

If not to teach us that one may be nawa (7%nn1) ®¥3, even though he is
removing her 2°»1n2 07 —

Mmoo responds to an anticipated difficulty:
= 4159189 129927 1INYND NAY INSI TY VPIT 919990 NIDY

For we cannot say that the X072 mentions w''%% 7¥ to inform us that the four
allotted days (which we are 0°71n2 072 771n) must be consecutive —

Mmoo responds that we cannot say the Xn°72 teaches us 1917 11°v27 -
= (0w 3,70 97 NTIT NN P92 NINTI POINY 1IPVY 19’3 XY N7

For there is no requirement that these four nights be 1°21%9, as we learnt in a

Xn>12 in the last P99 of 7771 nJon -
- YN 275 TION TMYY 71 1Y 10 YN

! Mmoo references the X3 on the very beginning of the following '2 71y.
2 The simple meaning of the Xn>2 is that he may be %12 for four nights and we assume that any blood is 2102 a7
and she is N7 (to him). However '01n will explain why 11" assumed that this is not (the only thing) what the Xn»92
is teaching us.
3 If the intent of the Xn»72 was (merely) to teach us that we are 0’12 a72 7910 for four nights, the ¥n>>12 should
have just said m>% ¥27X, without mentioning w"xw. The fact the Xn>12 mentions w"¥1 indicates that the Xn»92
(also) teaches us that he may be 77nn2 nawa Hyn.
4 We may assume that one is not permitted to be 75nn2 nawa S¥13, and the Xn»72 is merely teaching us that he has
four nights which we are 0102 072 7910, and the reason the Xn>>72 writes W"¥w 7V is to inform us that these four
nights must be consecutive, in order to be °1n2 072 7710, By writing w"¥w we know they are four consecutive
nights; for *¥°177 1% NRW1 77103, there is therefore wW"¥m 2591 p"w %% ww 95 wonn 5.
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‘There was a story where °217 allowed her four nights within a span of twelve

months’; it is evident that 19137 are not required, therefore we must conclude that the Xn>92 is
teaching us that 7%1n2 nawa 9w1a% " —

moon responds to the difficulty:®
- DAY ORIN 1Y MY 1 1Y PIMI WIS 379

And this is the explanation of the Xn>12; we allow her four nights until @' 2w -
- NAY IR 1Y DN NEPN YN 1Y Y53 LIy

That he could be ®¥2 every night and partially remove her 2°91n2 (each night)

until 2'"x -
- $Nava 091N YPYNY FIYT 1IMNNYN)

So the Xn»12 is informing us that it is permitted to remove 2°1n2 07 on Naw.

Moo continues with the explanation of the X mx:”
= 8099189 129927 1IIWNYND VP NAY NN NAWN 92D RD 2IYNY

And [727] X321 responded; ‘no, except for naw’ (he cannot be 512 and 2°71N2 wn
on N2v), and the XN mentions @' 1% to inform us that we do require 299139 —

mMooIN anticipates a difficulty:
= 199191 1999NT NDINT NTIT RINA PIDT RINYIAN T9991Y 81 MM

And the X713 could have challenged this answer (that 2°91¥7 1°¥2) from the
aforementioned Xn"93 in the last P2 of 1771 Nd0n, where it is evident that the '7
m>°% can be even spread out (over twelve months) —

Mmoo responds; the X773 did not ask from the Xn>>72 in 771 -
—7NP MY NYIAIN NAY NI 1Y XN RNI2T NN D 72997 NON

But rather the X preferred to challenge this view (that one may not be %¥12
naw31) from this Xnv"2 itself, as »2X asked, ‘but the Xn>72 states; four nights
until @''3%%°, indicating that one may be nawa H¥12 as well.

> We concluded that the n>™2 cannot be just teaching us that she has four nights, for why mention w"xw. On the other
hand the Xn>12 cannot be just teaching us that 77nn2 nawa 9wa? 2, for (then the X012 would not say that all the
nights are 2°71n2 07, and also) it seems that the X012 is stating that one is 9¥12 all the nights (before naw also).
¢ There is no difference whether one is Nawa 7912 Hv12 or if one is NAW2 0¥2IN2 N¥PH Wy, it is either permitted by
both or forbidden by both (see R"wmn).
7 Once 1" inferred from the words w"¥ 7v that the Xn>>32 must be teaching us to include a nawa 8>3, how can X317
answer Nawn 12°, for then the question remains why mention "X at all.
8 The four nights end on "% and after that (even if he was not 9¥12 the three times) he can no longer be 7710 future
blood in 2102 aT.
? Since it states both w"¥ 7v and NM%°> '7 this indicates that one may be 7¥11 all of the Mm>% '7 including naw.
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mooin asks:
= 10,9955 74 NYTNA 2INP RN INYTA NYY NN NAWN 92D 2IWNT RIPIYN 9NN ON)

And if you will say; initially when X27 answered, ‘except for n2w’, what did he
think, since the Xn>72 explicitly states, ‘four nights’ (which must include naw)?!

N1v0IN answers:
- YWYYD Y3NT PHYT NPYD MNT MMY YU

And one can say; that X271 thought that this is the interpretation of the xn2 -
- 11;y5h 74 955 192 17 NAYN 939 NAY SN 1Y 1Y PINN)

We allow her the 2°21n2 07 until @''3m, except for naw 5, which altogether is

four nights from the first night (which is Wednesday night) -
= DD 74 HOYaT YNIWNT 7299 11N

And 2R challenged this interpretation for the Xn>72 seems to mean that he was

5sw2 all four nights -
= PINT NS MNT ) DY 4N 291 NI WI9NIY 1195 10 ¥1RYN XD HYaws »un)

And X271 answered that the Xn»92 is discussing a case where he made a complete
nR°2 the first night and the Xn»72 is informing us, as the X 3 shortly clarifies,
that it is permitted to be 7312 on this nNaw even though it is it tight opening —

Mmoo proves that (since it is a 7PIN7 7¥70) this is a novelty -

9V 991 129N PPINA 0T 10N NN IN NNT
For if she sees 07 by the nX*2 of n2w we assume it to be 2%%In2 27 (meaning that he
removed 2°7n2 o7 (by making a 7121 [or nno]), and nevertheless it is permitted.

SUMMARY
The four nights need not be consecutive, and therefore since the 71w» mentions
w"xn, it proves that he is still 2°2102 7°wn on Naw and nevertheless it is permitted.

THINKING IT OVER

Moo answers that 27 thought that Mm% '7 merely means that by w"xm there are '7
m>*> (but not than you can be naw3a %»3).!? However this seems too obvious that
from Wednesday to w"xw there are m>°> '7; why would the Xi1n mention it?!?

10 Even if X217 maintains 7"97%7 12°¥2 (which explains w"¥m 7v), nevertheless m>% '7 indicates even Nawa.
' See ‘Thinking it over’.
12 See footnote # 11.
13 See X1 MR 7"210.
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